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Review...

Formulas for slope
m= ‘j"_:!‘ m=_f_'|'_S§ m= c‘lmnjc ;nj m:e—s

Xz2-X, ran Change ing Ax

Another name for slope Roc (Rute

o'C d‘“"‘jc,)

Parallel Lines ... “L““l slapes

Perpendicular lines-

The slopes are negartive reciprocals of cach other

i$ Mm=-2

Am= 2
p Y

Problems with the homework?

p. 340: #13, 18
D. 349: #5,7,9, 10, 13, 16, 17



Day 5 Slope yintercept Equation November 18, 2019

~

6.4 Slope-Intercept Form of the

Equation for a Linear Function

Relate the graph of a linear function to its
equation in slope-intercept form.

LESSON FOCUS

Make Connections

This graph shows a cyclist’s journey where the
distance is measured from her home.

‘What does the vertical intercept represent?
What does the slope of the line represent?

Graph of a Bicycle Journey
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y» Cartesian Plane s

y - axis

Quadrant IT [ Quadrant I

_ (Y V) «—+——eCoordinate pair
ST

(4,3)

X - axis

Quadrant I1I | Quadrant IV

Origin

Finding Intercepts

X~ int
o x -intercept: - apoint where the graph crosses the x-axis.

- to find the x-intercept = let y =0 & solve for x.

-int . :
. 39- fl'l\tercept: - apoint where the graph crosses the y-axis.

- to find the y-intercept = let x = 0 & solve for y.

Example: Find both intercepts given the line...
X—]r\“‘:\e'\‘jzo y_i,\‘{- |C+ Y=0
3x - blo) =1

-oy=(2-
3x =12 30(?\(,;4(?,
X = _ -
4 oy=IA
(4,0) “6 6
-2

(0,-2)
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How do you know this is the Cost of Cell Phone Plan
graph of a linear function? I IC en .
L)What does the slope of the graph ] s »
a0 e
represent? A0 50 r
Q) Sewme Slb(:c_ ':* 301§~
by Cost / S o
Min betond 200 m in I
n
0 0| 40 | 60 | 80 | 100|120
. . . . . Time ey el (il
Write an equation to describe this function. ‘r'”'bf’ i

Verify that your equation is correct.

3=mx+b Mm=1S 3:§x + 20
[0

A M-iv\f So

S(org =

3
_ \
Slope Yoinf form 2 20

In Chapter 5, Lesson 5.6, we described a linear function in different ways.
The linear function below represents the cost of a car rental.

Car Rental Costs An equation of the function is:
c C=0.20d + 60

The number 0.20 is the rate of change, or

14
T

[-=]

ol e the slope of the graph. This is the cost in
% | g0 dollars for each additional 1 km driven.

The number 60 is 7

=]

6.4 Slope-Intercept Form of the Equation for a Linear Function
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In general, any linear function can be described in slope-intercept form.

Slope-Intercept Form of the Equation of
a Linear Function

The equation of a linear function can be y
written in the forwhere mis ey
the slope of the line and b 1s its y-intercept. (0, B) A= nx + b

6.4 Slope-Intercept Form of the Equation for a Linear Function

Writing an Equation of a Linear Function
Given Its Slope and y-Intercept

3
The graph of a linear function has slope 5 and y-intercept —4.

Write an equation for this function.

j;mx&b g
S 5
=3 -4 . = 3 "Lf
o 35)( j 5X
55: 3X“ZO
3)(-55—20 =0

eneva] form

6.4 Slope-Intercep fon for a Linear Function

P x+ Bj'FC:O



Day 5 Slope yintercept Equation

YOUR TURN...

Vs

1. The graph of a linear function
has slope —% and y-intercept 5.

Write an equation for this
function.

7’: MX-\-E
> Zijx:S
\ 3

3y=- 1%+ (5
1X+39-15=0

November 18, 2019

/

Write an equation to describe this function.
Verify the equation.

M = ¢.SC
run

Writing the Equation of a Linear Function
Given Its Graph

[y ¥

¥

6.4 Slope-Intercept Form of the Equation for a Linear Function
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YOUR TURN...

4 ] ; i ;
3. Write an equation to describe this
function. Verify the equation.

Y M= (isc \J—,mx+b
- ran
£ % = 2 ﬂ_llx—:s
ar: T
0 ] -2
/}'=?M b:_3
—

ex: Determine the slope and y-intercept of the following line.

@) =-2(x+7)

q,)=@<+@ by-2 = -2x-r1
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EXAMPLE:
Determine the equation of the line that passes through the points (3, -4) &

(04) b="
m=\{-"Y,
>(7-"X(
= —L|--L(.
3-0
= -8
3
Y=mx+b
=-3
2 X+
| 3 Y

Practice Problems...

Page 362 - 363
#4,5,8,11,12,18, 19, 20
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